
www.TeamCustomerService.com

12

3

1

2

4

5
67

8

9

10

11

60 minutes

. Use of power tool to assemble this
product will invalidate any claim and
damage this product making it
unsafe !!!
. Please assemble on a clean soft
surface to avoid damage.

1 of 5 80-OUTD-WD-3SOFA

Tools Required

12/3/2022

(Included)

Triple Sofa

Customer Service

If you have any questions about assembly or possible missing parts,please contact us and we will be
glad to assist you. Contact us through our website: www.TeamCustomerService.com

80-OUTD-WD-3SOFA 100"Lx36"Wx32"H



Part list - Triple Sofa

Identifying the hardware-Identify the hardware using the illustrations below

A
M8*40mm Bolt

2 of 5

B28 02

C 04

5

6

5

6

5

6

33

3

2

21

1

1

4
4

4
4

80-OUTD-WD-3SOFA12/3/2022



Step 01

Step 02

3 of 5

A
M8*40mm Bolt

12

B 01

A

1

3
B

A
M8*40mm Bolt

06

B 01

B

A

X3
2

4

80-OUTD-WD-3SOFA12/3/2022



4 of 5

Step 03

Step 04

A
M8*40mm Bolt

06

B 01

24

A

B

A
M8*40mm Bolt

04

B 01

4

4

B

A

80-OUTD-WD-3SOFA12/4/2022



C 04

5 of 5

Step 05

Step 06

5

6

5

6

5

6

80-OUTD-WD-3SOFA12/3/2022



920mm(36’’)

640mm(25’’)

 865mm(34’’)

810mm(32’’)

865mm(34’’)

425mm(17’’)

550mm(22’’)

805mm(32’’)

2540mm(100’’）

790mm( 31‘’）

200mm( 8‘’）

760mm( 30‘’）

760mm( 30‘’） 380mm( 15‘’）

240mm( 9.5‘’）


	1.pdf (p.1)
	2.pdf (p.2)
	3.pdf (p.3)
	4.pdf (p.4)
	5.pdf (p.5)
	空白页面



